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This assessment consists of 16 pages and two (2) sections: Aand B

ALL the sections are compulsory.

Answer Section A in the space provided below every question and Section B in the table provided below

the questions.

SECTION A (40 marks)

SECTION B (60 marks)



SECTION A

Questions 1 to 5 of the examination question paper are PRACTICAL questions.
Please answer ALL five questions. Section A counts 40 marks out of a total of 100.
Please answer the questions by showing all the steps.

QUESTION 1 (5 marks)

Use the following information to answer question 1.1 and 1.2.

The demand for microeconomic books is: Q, =100000 —1000P
The supply of microeconomic books is: Q, =—20000 + 2000P

1.1 What is the equilibrium price of books?

(3 marks)

1.2 What is the equilibrium quantity of books?
(2 marks)
QUESTION 2 (5 marks)

2.1 The average monthly income of households in a South African small town increases from R4 000
to R4 500. As a result, the quantity demanded of white bread rolls increases from 1 000 to 1 500

units per day and the quantity demanded of whole grain bread rolls decreases from 1 000 to 800
units per day.

2.1.1 Use the arc elasticity formula to calculate the income elasticity of demand for white bread rolls,
and whole grain bread rolls, respectively.




(5 marks)

QUESTION 3 (10 marks)

3.1 The table below shows the marginal and total utility that Thomas derives from the consumption of
pizza slices during an all-you-can-eat lunch at the university’s cafeteria. Use the information

provided to answer the questions that follows.

Number of Pizza Slices Eaten Total Utility Marginal Utility

0 0

1 40
2 72
3 99
4 123
> 141
6 149




/ 149
8 142
(5 marks)
3.1.1  Whatis Thomas’ additional utility from the consumption of a fourth pizza slice?
(1 mark)
3.1.2 Whatis Thomas’ additional from the consumption of a sixth pizza slice?
(2 mark)
3.1.3  What happens to total utility as Thomas eats more and more pizza?
(2 mark)
3.1.4  What happens to marginal utility as Thomas eats more and more pizza?
(2 marks)
QUESTION 4 (15 marks)

4.1 Classify the following industries as either monopolistic industries, oligopolistic or monopolistic
competitive industries.

4.1.1  Cellphone industry

4.1.2 Restaurant industry

4.1.3 Banking sector



4.1.4  Estate wine producers

415 Car manufacturers

(5 marks)

4.2 Consider a monopolist where the market demand curve for the produce is given by P = 520 — 2Q.
This monopolist has marginal costs that can be expressed as MC = 100 + 2Q and total costs that
can be expressed as TC = 100Q + Q? + 50.

4.2.1 Given the above information, what is this monopolist’s profit maximizing price and output if it
charges a single price?

(5 marks)

4.2.2  Given the above information, calculate this single price monopolist’s profit.

(5 marks)



QUESTION 5 (5 marks)

Consider two firms, X and Y, which produce super computers. Each firm can either produce the next
generation super computer for the military (M) or for civilian research (C). However, only one firm can
successfully produce for both markets simultaneously. If one firm produces M, the other might not be able to
successfully produce M, because of the limited market. The following payoff matrix illustrates the problem.

FirmyY
M C
X
E M
= 2,1 2,2
C 11 3,2

5.1 Find the Nash equilibrium, and explain why it is a Nash equilibrium.

(2 marks)

5.2 If Firm X were unsure that the management of Firm Y were rational, what would Firm X choose to

do if it followed a maximin strategy? What would both firms do if they both followed a maximin
strategy?

(3 marks)
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In Section B questions 1 to 30 are MULTIPLE CHOICE QUESTIONS. All the questions must be
answered in the table provided. Also pay attention to the following:

(i)  Only one of the alternatives per question is correct.
(i)  Foracorrect answer you will receive two marks. No marks will be deducted for incorrect answers.

(i)  Section B consists of 30 questions and counts 60 marks out of a grand total of 100 marks.

Consider the following demand and supply functions: Demand: Qd = 450 - 50P and
Supply: Qs =-150 + 100P. What is the equilibrium price and output?

P = R1.50 and Q = 375.
P = R10 and Q = 300.
P = R4 and Q = 250.

P =R9 and Q = 750.

raendeE

Which of the following factors would cause an increase in the demand for beef hamburgers?

An increase in the price of chicken hamburgers.

An improvement in beef cattle farming techniques.

A decrease in consumer income (assuming that beef is a normal good).
A fall in the price of land used for cattle farming.

AP whE

If the government sets the minimum price of a product above the equilibrium price ...

1. more firms would be attracted by the high price, causing the industry supply curve to shift to
the right.

2.  the quantity demanded of the product would fall to zero since consumers would not be
prepared to pay such high prices.

3. the demand and supply curves of the product would shift until a new equilibrium price is

formed at the price government sets.

producers would have an incentive to produce more than they would produce under free-

market circumstances.

]

An increase in the price of a product from R50,00 to R55,00 causes the quantity demanded to
decrease from 2 500 to 2 000 units. Using the arc elasticity of demand, the price elasticity of demand
is ...

0.43.
-0.65.
1.15.
-2.33.

Hwnhe
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10.

If the quantity of movie tickets demanded increases by 10% when the price decreases by 1%, the
demand for movie tickets is ...

PODNE

perfectly elastic.
relatively elastic.
unit elastic.
relatively inelastic.

If the income elasticity of demand for a product is zero, an increase in people’s income will cause
the demand curve to ...

~rgrr

shift to the right.

shift to the left.

not shift at all.

shift to the right or the left, depending on the equilibrium price.

Consider a supply curve of the form: Q = ¢ + dP. If d equals zero then supply is ...

B w s

completely inelastic.

inelastic, but not completely inelastic.
elastic, but not infinitely elastic.
infinitely elastic

Which of the following describes the Giffen good case? When the price of the good ...

1.

2.

3.

4.

rises, the income effect is opposite to and greater than the substitution effect, and
consumption falls.

falls, the income effect is in the same direction as the substitution effect, and consumption
rises.

falls, the income effect is in the opposite direction to the substitution effect, and consumption
falls.

falls, the income effect is in opposite direction to the substitution effect and consumption rises.

If a consumer is always indifferent between an additional one grapefruit or an additional two
oranges, then when oranges are on the horizontal axis the indifference curves ...

Hw s

will be straight lines with a slope of -1/2.
will be straight lines with a slope of -1.
will be straight lines with a slope of +1/2.
none of the above.

If the total utility from consuming the third and fourth units of a good is 78 and 85 respectively, then
the marginal utility of the fourth unit is ...

] BN

85
-7.
7.
Not calculable from the information given.
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11.

12.

13.

14.

15.

16.

If Michael consumes more and more biltong and each additional packet of biltong provides less
satisfaction than the previous one, we are seeing the working of the law of ...

sFwpnE

demand.

decreasing economies of scale.
increasing opportunity cost.
diminishing marginal utility.

Which one of the following statements is correct?

1.

2.
3.
4.

When a marginal value is less than the average value, the average value may still be
increasing.

When a marginal value is positive, the corresponding total value decreases.

When the total value decreases, the corresponding marginal value is likely to be positive.
When the average value reaches a maximum, the marginal value is equal to it.

Which one of the following statements is correct?

When marginal product is negative, total product is increasing at a decreasing rate.

When average product is at a maximum, marginal product equals average product and total
product is rising.

When marginal product is at a maximum, average product equals marginal product and total
product is rising.

When average product is at a maximum, total product is increasing at an increasing rate.

The fact that Chloe spends no money on travel ...

Bode

implies that she does not derive any satisfaction from travel.
implies that she is at a corner solution.
implies that her MRS does not equal the price ratio.

any of the above are possible.

If a consumer must spend her entire income on some combination of two commodities and chooses
to spend it all on just one of the commodities then ...

FwnhE

the other commodity is not economically sustainable.

the other commodity must have zero marginal utility.

the other commodity generates less utility for every rand spent on the good.
the two commodities must be perfect substitutes.

Suppose a firm produces ten units of output and the costs involved are R40 per unit variable cost
and R10 per unit fixed cost. In this case the total cost is ...

genhr

R50.

R400.
R450.
R500.
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17.

18.

19.

20.

21.

22.

A firm producing six units of output has an average total cost of R250 and has to pay R450 to its
fixed factors of production. The average variable cost ...

1. RY75.

2. R175.

3.  R200.

4. R700.

If the total cost is R1 000 and the average fixed cost is R20 when 20 units of output ae produced,
then the average variable cost at that level of output is ...

1. R20.

2. RS30.

3.  R400.

4.  R600.

If a perfectly competitive firm increases production form ten to 11 units and the market price is R30
per unit, the total revenue for 11 units would be ...

1. R10

2. R30.

3. R300.

4. R330.

If the market price of a product is R35 in a perfectly competitive market, the marginal revenue

earned by the firm from selling the fifth unitis ...

1. R5.

2. R35.

3. R135.

4, impossible to determine.

If a competitive firm’s marginal costs always increases with output, then at the profit maximizing
output level producer surplus is ...

1. zero because marginal costs equal marginal revenue.

2. zero because price equals marginal costs.

3. positive because price exceeds average variable costs.

4. positive because price exceeds average total costs.

At the current level of output, long run marginal cost is R50 and long run average cost is R75. This

implies that ...

there are neither economies nor diseconomies of scale.
there are economies of scale.

there are diseconomies of scale.

the cost-output elasticity is greater than one.

PwWbN =
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23.

24.

25.

26.

27.

Which of the following is NOT true for a monopoly?

1.

2.
3.
4.

The profit maximizing output is the one at which marginal revenue and marginal cost are
equal.

Average revenue equals price.

The monopolist's demand curve is the same as the market demand curve.

At the profit maximizing output, price equals marginal cost.

A monopolist has equated marginal revenue to zero. The firm has ...

P Wb

maximised profit.
maximised revenue.
minimised cost.
minimised profit.

The marginal cost of a monopolist is constant and is R10. The marginal revenue curve is given as
follows ...

MR =100 - 2Q

The profit-maximizing price is

raendeE

R70.
R65

R55.
R50.

A maximin strategy ...

W=

maximises the minimum gain that can be earned.

maximises the gain of one player, but minimises the gain of the opponent.

minimises the maximum gain that can be earned.

involves a random choice between two strategies, one which maximises potential gain and
one which minimises potential loss.

In a Nash equilibrium ...

swpbhE

each player has a dominant strategy.

no players have a dominant strategy.

at least one player has a dominant strategy.
players may or may not have dominant strategies.
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28.

29.

30.

In a prisoner’s dilemma with prisoners A and B, if they both confess, A gets 5 years and B gets 8
years. If both remain silent, A gets 2 years and B goes free. If one confesses and the other does
not, the one who confesses gets 1 year and the other gets 15 years. Which statement is true of this
case?

There is a dominant strategy for both A and B.
There is no dominant strategy for either A and B.
There is a dominant strategy for A but not for B.
There is a dominant strategy for B but not for A.

Pl

With reference to question 28, which one of the following statements is TRUE?

1. A Nash equilibrium exists as the question stands.

2. A Nash equilibrium does not exist as the questions stands, but if the penalties for both
remaining silent were doubled, a Nash equilibrium would exist.

3.  If the penalties were changed so that if both parties confessed, they would go free, then it
would be the dominant strategy for both to confess.

4.  Both statement 2 and 3 are correct but statement 1 is incorrect.

In an oligopsony market ...
there are many buyers and sellers.
there are many buyers and a single seller.

1.

2.

3.  thereis a single buyer and many sellers.
4. there are a few buyers and many Sellers)
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You must write down your answers for section B in the space provided below.

1. 11. 21.
2. 12. 22.
3. 13. 23.
4, 14. 24.
5. 15. 25.
6. 16. 26.
7. 17. 27.
8. 18. 28.
9. 19. 29.
10. 20. 30.
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